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T =TrcCosgQ G =T cos ¢ — ¢rsin ¢
Cy=rsing < y:fsin¢+gﬁrcos¢

_zZ=rcotuw 2z =7rcota

1 :
T = 5m[7'°2(1 + cot? a) + r¢?]

V = mgr cot a
1

L= im[fig(l + cot? &) 4+ r2¢?] — mgr cot a
e, d oL oL d (0L] 0L
Tooodt|or| o’ dt 9] O
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ng.’:‘ﬂ S lSs

*0

1 .
L= §m[’f“2(1 + cot? a) + r?¢?] — mgr cot a

d [oL] 0L
dt | or | Or’

mi*(1 + cot? o) = mré? — mg cot «

a [oc] oc

dt | od| 0
d 9 3] 2
E|:/)7'Lfr'¢_:O:}l:’n’)fl"¢:COHSJC.
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(mit(1 + cot? o) = mr¢? — mg cot o

) . . /
l=mrip == —

mr?
2 ”
mi*(1 + cot” a) = —= — mgcota
mr
.1 [ COS v
mr——s— = —5 —Mg—;
sin“av mr sin o T
. 2sin® o ,
mr = 5— — Mg cosasina
mr
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r, = Rcos(wt +0)

Yo = Rsin(wt + 0)

.
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r, = Rcoswt + Rcos(wt + )

Yp = Rsinwt + Rsin(wt + )

.




r

r, = Rcoswt 4+ Rcos(wt + 0)

Y, = Rsinwt + Rsin(wt + 6)

.

r

i, = —Rwsinwt — R(w + ) sin(wt + 6)

i, = Rwcoswt + R(w + 0) cos(wt + 6)

.

’

@29 = R?w?sin® wt + R%(w + 0)? sin®(wt + 6)
< +2R%w(w + 6) sin wt sin(wt + 0)
y; = R%w? cos® wt + R?(w + 6)? cos? (wt + 6)

, .
\ +2R“w(w + 0) cos wt cos(wt + )
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p

i = R%w?sin? wt + R?(w + 0)? sin?(wt + 0)

+2R%w(w + 6) sin wt sin(wt + 0)

2
p

< .
g)g — R°w? cos® wt + R*(w + 0)* cos®(wt + 0)
\ 2R?w(w + ) cos wt cos(wt + 0)
L. . . :
ngm(a?229+y§) qgq =0, ¢ =20

1 . .
T:§m[R2w2 R*(w + 0)* + 2R*w(w + 0) cos 0]

1 : :
T = §mR2 (w? + (w4 0)* + 2w(w + 6) cos 0]
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1

T = §mR2[w2 + (w4 0)% + 2w(w + 6) cos 0]
V=0
L = %mRQ[w2 + (w4 6)? 4 2w(w + 6) cos 6]
d [6’[1] oL
dt |99 06’

% [mR2 (w+ ) + mR%w cos «9} = —mR%*w(w + ) sin 6
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d [mR2(w 0)

dt

mR*w cos 9} = —mR*w(w

0) sin @

mR%0 — mRQyé/sin 0 = —mR*w(w —%in v,

mR20 + mR2w?sind = 0
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T
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7p)
o
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o
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. (X — ROsinb, —R0 cos 0)

M : (X,0)
M : (X,0)
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{m:(X%—RcosH,—Rsin@) {M;(X,O)

m:(X—RésinH,—Récos@) M :(X,0)

1 : 1 : : .
T = 5MX2 + 5m(X2 + R?0* — 2ROX sinf), V = —mgRsinf
1 ey 1, ) o N .
£:§MX —|—§m(X + R“0° — 2ROX sin6) + mgR sin 0

qlzeac_il:é? QQ:Xa(jQ:X

d [oc] _oc dfoc)_oc
dt | g0 | 060° dt |ox| 0X
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1 1

L= §MX2 + §m(X2 + R?0? — 2RHX sin ) + mgRsin 6
d [0L| 0L
dt | 96| 06
d

T {mRzé — mRX sin 0} — —mROX cos b + mgR cosf

mR?0 — mRX sinf — mf}?%cos@ — —mROX cos6 + mgR cos

mR%20 — mRX sinf = mgR cos 6
~mR . .
mmmm) RO — Xsinf = gcosb
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1 1

L= §MX2 + §m(X2 + R?0? — 2RHX sin ) + mgRsin 6
d [0L| 9L
dt |ox| 0X
d

7 {(m—l—M)X—mRésinH} =0

(m + M)X —mRfsinf — mR6? cosf =0

X = mnj-RM (0sin 6 + 62 cos 0)
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(RO — X sin = gcosf

\X:mﬁRM(é’.sinﬁ 02 cos 6)
R6H— mlt (0sin 6 + 62 cos 0)sin = g cos 0
m + M — Y
+R. mcos’0+ M. mcosfsinf ., g
D Y 0 — M 0 —ECOSQ
d (mecos20+ M 9_2_ iy m00826’+M(§_mCOSHSin99~2
dit m + M 2 | m + M m + M
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mcos?0 + M. mcosOsing .

0 — 0° = Z cosf
m+ M m+ M R
d (mcos?+ M (9_- _- mCOSQH—I—]Wé_mcos@sim@e-2
dt m + M 2 | m + M m + M
] Iy _

do d (mcos29—|—

ik . [mcos?0+ M. mcosfsind .,
| =46 0 0
m + M

m + M B m + M

& _é mcos29+M9-_ mcos@sin@e-2
2 m + M m + M
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mcos 60 + M ..

m cosfsinf .
— 0? = L v,
—— Rcos

m + M

(

mcos? 0 + M

m + M

)

92

2

mCOSQQ—I—Mé

m + M

m cos @ sinf .

92
m + M

!

(

mcos? 0 + M

m + M

rﬁ oBisls by rjl.c— paSs)s (S50 09,5

)

92

2

= 26089
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mcos® 0 + M

62

i = J cos 6

dé m+ M 21 R
S ) s Ll 4

(0,6) mcos? 0+ M\ 62 g [?
d ( ) = —/ cos 6dé
(0,0) T —I— M 2 R 0
B - adyl Lol
: 29 m + M
[ in 6
R (m00826’+M> o

RO — X sin6 = gcosf

s o




RQ—XSIHQ :gCOSH

éQ:z_Q( m+ A )Siﬂ@

R \mcos20+ M

d
dt
—

200 = 9 -
% R (mcos? 0+ M)? lﬁ/cos (mcos® 0+ M) +

+ 2mf sin? 0 cos 9}

g (m+ M)cosO
R (mcos? 0 + M)?
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RA — X sinf = gcosb

g (m+ M)cosf

) = 20 4 M) + 2m sin®

0 R (mcos2 0 1 M)’ [(mcos? @ + M) + 2msin® 6|
.9 [ . (m+M : .
X = y—; 1A (mcos? 0 1 M2 [(mcos® 0 + M) + 2msin® 6|
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A (r = Rsinf (& = RO cos @
y = —Rcosf <y:Résin@

1 .
I' = §mR292, V = —mgRcos0
__ [ _1 202
=0, gg=0, L= 2mR 0“ + mgR cosf
d |0L oL . .
T, [89} = 29 — mR%0 = —mgRsinf = 0 + %Sinﬁ =0
Wy — g
R
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m : (X + Rsinf, —R cos 0)
m : (X + Rfcos @, RO sin )
M : (X, 0)
M : (X,0)

T = %MX2 + %m(X2 + R%0% + 2ROX cosb),

V =—mgRcos?

1 : 1 : ..
L= §(M +m)X? + §m(R292 + 2ROX cosf) + mgR cos 6
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1 : 1 : ..
L= §(M +m)X? + §m(R292 + 2ROX cosf) + mgR cos 6

Q1:6)7 le:éa q2:X7 QQ:X
d [0L _8_£
dt | 96| 06

d . . .
% {mRZH + mRX cos 9} = —mROX sinf — mgRsin b

mR%0 + mRX cos — mRXfAsinf = —mR/X sin ) — mgRsin 6

mR?0 + mRX cos = —mgRsinf = RO+ X cosf = —gsin b
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1 : 1 : ..
L= §(M +m)X? + §m(R292 + 2ROX cosf) + mgR cos 6

=0, G1=0, =X, =X

d (oL| 9L
dt |ox| 0X
d {(M—I—m)X—FmRéCOSQ} =0
dt
(M 4+ m)X 4+ mRf cos® — mRH*sinf = 0
. mR .
X——M+m(9(3089—9 sm@)
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/Ré%—)zcos@ — —gsin6
\X = — Mmfm (6’ cos ) — 02 sin 6’)

6 — 0

cosd — 1, sinf — 0, 92 sin @ — 6260 — 0

RO+ X = —gb

. mR .
X = — v,
\ M 4+m
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lim wy —
M 00
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. M+m\ g, B M g
‘9+< M >E9_O’ C"0_\/(1\4+m)R

0 = Acoswot + Bsinwgt, § = —w§ (A coswot + B sinwgt)

X:— —
M +m M +m

w§ (A coswot + B sinwot)

X = %g(A coswot + Bsinwqt)

lim X —0

M 00
m
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(x = Rcos¢sinf (x = lcos¢sinb
{y=Rsingsinf {y=Isingsinf
2z = —Rcosf z = —lcosb

. \.
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(& = —lgsin dsin @ + 16 cos ¢ cos 6
iy = locos psin 6 + 10 sin ¢ cos 6

- _Z =10sinf
1 . .
T = §m(l26’2 + 1?¢? sin? 0)

V = —mglcosb

(x = lcos¢sinb .
m:{y=Isingsingd L= —m(1292 12q52 sin” 0) + mgl cos 6

2
g=0  qa=0 @p=0¢, ¢=9¢
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1 . .
L= im(l%’2 + 1?¢* sin” 0) + mgl cos 6

n=0, G1=0, =¢, Go=20

d [0L _8_[1
dt | 99| 00
ml?0 = mi%¢? sinf cos® — mglsinf = 6 = ¢ sinf cos h — %Siﬂ@
dfoc) _oc
dt | 9| 09

d - '
T [legb sin? «9} =0 = ml?¢ sin? @ = const.
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= qﬁQ sin @ cos 6 — %sin@
{

ml2q5 sin” @ = const.

\.

oL
42.9‘.‘:‘{.?@&3 C»SJ} Y a5 Pp = a_qk
oL .
Do = — = mil*¢ sin” 6
0
0 = ¢ sinf cosl — %sin@
{

mil?$sin? @ = const. = py

\.
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\.

( f = d?sinfcosh — %Siﬂ@

mi%¢sin® @ = const. = Do

2
. Do i Py . g .
¢ = mi?2 sin” @ =0 24 Sin4¢98m9(3089 1l sin 0
2
: Py cosb ,
6 = — Zsinéd
m2isind0 1
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f¢2 _— qu : . :
mli2 sin® 6 o Y.
< 2 ; : .
Xr
. Py cosf g . L
h=_—2 — = sin @ 4

N m2l4sine

\uabdb:gb:¢ozconst.:>gé:p¢zo

L

0 o3l &3‘

é—k%siné’
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ml2 sin? 6

<
2
. Py cost ,
0 = — =sin 6
~ m2l4sin® 0 1
Y oo i @ =6y = const. = 0 =60 =0
- 2 2
Dy cosb , p
0= -2 .3O—QSH190:> ?4 =
m2l% sin® 0y m2l4sin®* 0, [lcosby
¢& _ QP.qS = ¢ _ g _ e 2 o9 Js iz sl wfi
\ ml? sin® 6, [ cos 0 by e 28 K]
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. o p¢
¢ ml2 sin? 6
< 9
; Py cosl g |,
0 = _Z
= ed e 1S

P?p cos 6
m237 sin® 6

G+ 970)=0, [(6)=sinb -

£(6) = £(80) + £V (B0)(8 — 60) + 5./ (B0)(6 — 60)* + -
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4 D¢ . 2?35 cos@ g .

o 9_

: ; — = sinf
ml2 sin? 0

36) [

m214 sin

p?b cos 6
m2(3q sin>

b+ %f(@) —0, f(f) =sinf—

£(0) = f(0o) + £ (60)(0 — 0o)

. g ’M“LS‘.
6 + Tf(l)(ﬁg)(ﬁ —00) =0, |f(6o)=0 j:tj&:
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4 Po . 2?35 cos@ g .

— 9_

: ; — = sinf
ml2 sin® 0

36) [

m214 sin

Py cosf

m2(3¢ sin”> 0

6+ 1 (80)(6 — 60) =0, [(0) —sind -

f(0o) =0
p5  cosby

. 4
5,3 sin” Oy
m-l~g
cos O

— O —> 2 —
m2[3g sin® 6, P¢

sin® @y cos @ - g
) = sinf — —
f( ) SLI ¢ \/ZCOS (90

. 9
cos By sin® 0
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pé cost) g

[ - g
W = ¢ = \/l(:osé’o7 0= m2l4sin® g 1 Sing

sin* 0y cos @

0+ %f(l)(eo)(e —0p) =0, [f(0)=sinf —

cos By sin’ 6

1 20
f(l)(g()) — 1 3 cos” 0 = 3 cos by + sec Oy
cos

g

l(3008«90+sec@0)(9—90):(),7729—90, n==6, =20

0 +

[ [
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7'7'+g(36086’0+se090)77:0, wp = \/g(30086’0+sec90)
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pé cost) g

[ - g
W = ¢ = \/l(:osé’o7 0= m2l4sin® g 1 Sing

sin* 0y cos @

0+ %f(l)(eo)(e —0p) =0, [f(0)=sinf —

cos By sin’ 6

1 20
f(l)(g()) — 1 3 cos” 0 = 3 cos by + sec Oy
cos

g

l(3008«90+sec@0)(9—90):(),7729—90, n==6, =20

0 +

[ [
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7'7'+g(36086’0+se090)77:0, wp = \/g(30086’0+sec90)
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1 . .
E=T+V = iml2(6’2 + ¢ sin? ) — mgl cos @

L Po
¢ mil2sin® 6’
1 . 2
E = —ml?6° A qu. 5— — mglcost
2 2ml? sin” 0
. 4
= [
Po =T 03 cos Oy
1 . sin® 4, 1 ..
E == 1292+mz( —cose>:—m1292+ve 0
2" I 2 cos B sin® 6 2 w(0)
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. 4
Vet (0) = mgl ( sin” Oy — COS 9)

2 cos By sin? @

5
4 -
3 -
g
8
=N
1 -
h— O —T5°
0 — o =60°
— Oy =45°
—_— G =30°
—]_ 1 1 1 I I 1 I I
0 25 50 75 100 125 150 175

0 (Degrees)
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